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Hy P, 1 =0 H, Py 1%, *0
7010.03
22
P <0.001

At a =0.05 we reject Hpand conclude that X3 added to a model already
containing X; does explain a significant amount of variation in Y.

HO:pylexl,xgzo HA:pYlexl,m;tO
10.93
F(X2|X1,X3) =ﬁ4m=0102 (1,21 df)
21
P >0.25

At a =0.05 we do not reject Hyand conclude that X, added to a model already
containing X; and X3 does not explain a significant amount of variation in Y.

Hy: Py, xp 1% =9 H 4 Pyixy x 1% 20

(7010.03 +10. 93/
FOG, X, X)) = s ooh =3279  (2,21df)
P <0.001

At a =0.05 we reject Hyand conclude that X, and X3 added to a model already
containing X, explain a significant amount of variation in Y.

We would include X; and X3 in the model and omit X5.




